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BASICEFREITER

list

10
20
30

40

50

60

70

80

90
100
110
120
130
140
150
160
170
180
190
200
210

¢

INPUT“Year, month, day”;Y, M, D

IF Y=0 AND M=0 AND D=0 THEN END
IF M>12 OR M<1 OR D31 OR D1 OR
Y<0 THEN 10

PRINT TAB (10); “year”; TAB(20); “month”,
TAB(30) ;%day” ; TAB(40) ; “week”

PRINT TAB(9);Y;TAB(19);M;TAB(29);D;
C=0,X=Y

FOR I=1 TO M

READ K

IF 1-2>3 THEN 170

IF Y MOD 4=0 THEN 120

GOTO 170

IF Y MOD 100=0 THEN 140

GOTO 160

IF Y MOD 400=0 THEN 160

GOTO 170

K=K+1

C=C+K

NEXT

C=C+D

RESTORE

S=X-1+INT((X-1)/4) -INT((X-1) /100) +

(3



220
230

240

250

260

270

280

290

300

OK

run

INT((X ~1)/400) +C

N=S MOD 7

IF N=0 THEN PRINT TAB(40);%sunday 07!
PRINT:GOTO 10

IF N=1 THEN PRINT TAB(40); “monday 1”:
PRINT:GOTO 10

IF N =2 THEN PRINT TAB(40);%tuesday 2”:
PRINT:GOTO 10

IF N=3 THEN PRINT TAB(40) ;“wednesday
37:PRINT:GOTO 10

IF N=4 THEN PRINT TAB(40);%thursday 4”:
PRINT:GOTO 10

IF N=5 THEN PRINT TAB(40); “friday 5":
RINT:G OTO 10

IF N =6 THEN PRINT TAB(40) ;“saturday 6”:
PRINT:GOTO 10 .

DATA 9, 31, 28, 31, 30, 31, 30, 31, 31, 30, 31,30

Year, month, day?1949,10, 1

year month day week
1949 10 1 saturday 6

Year, month, day?1921, 7, 1

year month day week
1921 7 1 friday 5

Year, month,day?1984,1,1

year month day week



1984 1 1 sunday 0

Year, month, day?2000,3,8

year month day week
2000 3 8 wednesday 3

Year, month, day?0,0,0

OK

Y

20

30

120

€

FORTRANRR F¥ B 3E4745 5

integer x,v,c,d, k,s,

dimension k(12)

data k/0,31,28,31,30,31,30,31,31,30,31,30/
write(01,10)

format (1x, ‘inPut year, month, day’)
read(01,20)y, m,d

format(id, 2i2)

if (y.eq.0.0r.d.eq.0.0r.m.eq.0)go to 200
if (m.gt.,12.0or.m,1t,1,0r.d.gt.31.0r. d. 1t.1.
or.y.1t.0)goto 5

write (01, 30)

tormat(1x, 6x, ‘year’, 8x, ‘month’, 5x, ‘day’ 7x,
“‘week’)

c=0

X=y

do 180 i=1,m

if (i.ne.3) goto 170

if (mod(y, 4).eq.0) goto 120

goto 170

if(mod(y, 100) .eq.0) goto 140



goto 160
140 if(mod(y, 400) ,eq.0) goto 160
goto 170
160 k(i) =29
170 ec=c+k@)
180 continue
k(3) =28
c=c+d
s=x—1+(x-1)/4- (x-1)/100+ (x-1) /400 + ¢
n=mod(s, 7)
write (01,101) y,m,d,n
101 format(lx, 4i10)
goto 5
200 stoP
end
C>xingqi
INPUT YEAR,MONTH,DAY19491001
YEAR MONTH DAY WEEK
1949 10 1 6
INPUT YEAR,MONTH, DAY19210701
YEAR MONTH DAY WEEK
1921 7 1 5
INPUT YEAR,MONTH,DAY19840101
YEAR MONTH DAY WEEK
1984 1 1 0
INPUT YEAR, MONTH, DAY20000308
YEAR MONTH DAY WEEK



2000 3 8 3
INPUT YEAR,MONTH,DAY19860601
YEAR MONTH DAY WEEK
1986 6 1 0
INPUT YEAR, MONTH, DAY0000
STOP
3. ALGOLEFRBfT4R
BEGIN INTEGER y,n,x,m,d,i,c,ss
ARRAY K[(1:12]);
LIBRARY“ALIB” .
110:text(1, “inPut yeat, month, day”) ;skiP(1);
y: =read(1) ;m: = read (1) ;d: = read (1) ;
text (1, “year ‘ month
day week”) s
skiP(1);
IF m>12 OR m<1 OR d>31 OR
d<1 OR y<0 THEN GOTO 110;
write(1,y) srwrite(1,m, 8, 0);rwtrie(1,d, 9,
0)sc:=03x: =y
seti(sloc (%0, 31,28,31,30,31,30,31,31,30,31,
307));
FOR i:=1 STEP 1 UNTIL m DO
BEGIN
k(il: = read (10) ;
IF i*3 THEN GOTO 1170;
IF y MOD 4=0 THEN GOTO 1120,
GOTO 11704



1120.IF y MOD 100=0 THEN GOTO1140;
GOTO '1160;
1140:IF y MOD 400=0 THEN GOTO 1160;
GOTO 1170
1160:k(il: = 29;
1170:c: =c + k(iJ;
END;
k(31:=28;¢ct =c+d;
Si=x-1+x-D%4- (x-1)% 100+ (x—
1) %400+ c;
n:=s MOD 7;
rwrite (1, n, 10, 0) 5
END
FINISH
AZ-arun Z
RML ALGOL V4.4C®
CoPyright (C) 1979 by Research Machines
i/r\lput year, month, day
1949,10,1 ‘
year month day week
19 49 10 1 6
inPut year, month, day
1921,7,1
year month day week
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1921 7 ] 5
input year, month, day
1984,1,1

year month day week
1984 1 1 0

N

inPut year, month, day
2000,3,8

year month day week
2000 3 8 3
”~
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